AP- Chemistry







TS
Dr. VanderVeen







5/2/07

Chapter 13 Problems

1. Which of the following solutes would have the highest solubility when dissolved in water?
A) C6H12O2
B) C6H12O3
C) C6H12O4
D) C6H12O5
E) C6H12O6
2. What two colligative properties?
A) Freezing point depression & vapor pressure elevation

B) Osmotic pressure & freezing point elevation

C) Boiling point depression & solubility
D) Vapor pressure depression & boiling point elevation

E) Solubility & osmotic pressure
3. Which of the following is the correct ideal value of the van’t Hoff factor of aluminum (III) nitrate?
A) 1
B) 2
C) 3
D) 4
E) 5
4. What is the mole fraction of K+ in a solution prepared with 50.00 mL of 3.000 M KCl and 0.3000 moles of H2O?
A) 0.15/0.30
B) 0.15/0.45
C) 150/150.3
D) 0.050/0.30
E) 150/0.30
5. What is the final concentration of Cl- ion 250 mL of 0.20 M CaCl2 solution is mixed with 250 mL of 0.40 M KCl solution?
A) 0.40 M
B) 0.20 M
C) 0.10 M
D) 0.60 M
E) 0.30 M
6. 2.40g of sodium metal is reacted in a closed container with 150.0mL of methanol (CH3OH). The balanced equation is as follows:
2Na(s) + 2CH3OH(l) → 2NaOCH3(sol) + H2(g) 
a) Assuming the reaction runs to completion, calculate the number of moles of hydrogen gas that is produced.

b) The volume over solution is 147mL. Calculate the partial pressure of hydrogen gas in this volume at 25°C, ignoring any solubility of the gas in the solution.
c) What is the molarity of the product NaOCH3 if the density of methanol (CH3OH) is 0.0246mol/mL.
Answer Sheet
1. E

2. D

3. D

4. B 

5. A

6.
a) 0.0522 moles H2

b) 8.69 atm


c) 0.715M
